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Section : General Intelligence and Reasoning

Ans

2 1. SRQP
« 2. BYXW
X 3.EDCB
2 4. PONM

Q.1 fafifed IR sigR-aaeEl # @ & 5 Fifta whie & a9 € 3R 39 voR T TiE
T 1 B T SHER-TA 39 TYg & Aafa 1 872

Question ID : 26433080458
Status : Answered
Chosen Option : 2

Ans

TR 3{TY?

1. Overwork

2. Overwrought
3. Overwhelming
4. Overweight

5. Overweening

25 1. Overweening
< 2. Overwrought
< 3. Overweight
o 4. Overwhelming

Q.2 fAU U ) FT SISl UTHI F AR HATRIT A & T, B T Weg <A R

Question ID : 264330104887
Status : Answered
Chosen Option : 4




9 Rw e Rwedt F ¥ 3w APl FT wE B S w epimer &
TeATIE (?) F FUTT G 3T T &7

a1 9O ”
m Or|0O0|0 0|0 0] °
Ans
o 0O
> 1.
o O
O O
> 2.
O 0O
o O
« 3
o O
L &
> 4.
(vl w)

Question ID : 26433080513

Status : Answered

Chosen Option : 2

Q.4 39 ey &1 ag= o3 &l 91 TE @ I UPR Jatd § or TeR g wem gadt
T ¥ 3R uiEd] T@ o) e 4 Yafta 21
16:96::?:161::18:120
Ans X 1.20
X 224
o 3.21

K 4.22

Question ID : 26433059940

Status : Not Answered

Chosen Option : --

Q.5 it &) HEmel B e § WER gga W Fafif@d § @ o1 a1 gHiteor 9 gme
4qUT6

Ans X 1.4-6+2+3x5=20
@ 2.4+2+3-6%x5=-14
K 3.4x3+6-2+1=21
K 4.9+3+6x5-4=18

Question ID : 264330105094

Status : Answered

Chosen Option : 2




Q.6 fFafafaa & Q #-ar seR-agg & 78 s@ar A uy-fg (7) H ufawnfia same
DBK, GDL, JFM, MHN, ?

Ans 7 1.PJO
< 2. PKO
< 3. QKN
X 4.QJO

Question ID : 26433057985
Status : Answered
Chosen Option : 1

Q.7 I Y=Y P TG S RraH F=mg oy § It woR defid § O vor fafufaa
e Tt < 21
(File: Wil B 3P ged 3wl A faurim fare fam, gof Jemnsi ur nfordty wifssang «t
ST TIRT | ITeRVT & A 13 - Kty Aferant S % SisATge AN ST 3fe 13
o foraT <1 gpa1 81 13 BT 1 3R 3 H FAUTRIG $1 3R fFR 1 3R 3 wR nfvrdig dfsrame
FX P oAl T B 1)

(16,7, 81)
(24, 16, 64)

Ans 7 1.(13,7,36)
% 2.(48, 39, 18)
< 3.(37, 25, 100)
% 4.(21,19, 8)

Question ID : 26433074559
Status : Answered
Chosen Option : 1

Q8 T faeeg ofal 1 75 BTy R &1 178 Hpier (x) T HIT o &Y & 51 §5 © (TP o TAR &
EGEIRE I

e
1N

Question ID : 26433068912
Status : Answered
Chosen Option : 3




Q9 TAxBHTAIRfPABRTHER A-BHTASETH A BFIagAg, A+BITI?
Q:A,Bmﬁm%,?ﬁﬁaﬁ@aﬁﬁaﬁqmmugﬁﬁﬁam%ﬁmRaa'rﬁl?n
Ans X 1.P-QxR
K 2.PxQ+R
X 3. P+Q=R
& 4. P+QxR

Question ID : 264330105003
Status : Answered
Chosen Option : 4

Q.10 7T gl & 99 T Haio 3T 97 B PR PR FUd R F A RITWA R
o T wfieRor wgfera g1 wrem |
50*10 * 20 * 5 * 105

Ans X 1.x - + =

J2_+Yx,+y:
K 3x, 5+ =
K4+ x - =

Question ID : 26433068567
Status : Answered
Chosen Option : 2

QM A#BHTHIR A BPFITETRI
A@BHTAYE'A BHTIATF
A&B®HI IS 'A B ATl
A%B®HIATR'A BHIATEI
TREWEQETEY@M %K E, dl Q, K f5d yoR Gafta 82

Ans X 1.g[cl
o 2.937
X 3. 9
X 4.5

Question ID : 26433068153
Status : Answered
Chosen Option : 2

Q.12 39 faPey &1 99 B3, S Uil H©I & I TR ailia ¢, o uer gad) §@m ugedt
e & Gt 2 ofv At Tren st ven @ w6t 2
68:19::76:21::164:7?
Ans X 1.41
X 2.39
X 3.45

o 4.43

Question ID : 26433069122
Status : Answered
Chosen Option : 4




Q.13 2 g Tfterur F1 Tgfera B & e 5 o wemasit 3iv i ) gl &) R aqan
21111?7x1o+5—2o=5

Ans . 1.53R 10, + 3R +

X 2.10 3R 20, x 3R +

X 3.73R28, x 3R+

X 4.53R 20, - 3R +

Question ID : 26433087055
Status : Not Answered
Chosen Option : --

Q.14 I IFHed o1 9 B, e urad sieR-a9g 4 3P 98] HIY 3, oY HaY guv 3HaR-
TYE FT UEd AEGR-TYE | & 3T 6 AdY Y 3eR-THE BT Y &R THE A 21
ACCUSED : UCCASDE :: FACTORY : TCAFOYR :: DYNAMIC : ?

Ans X 1. DNYMACI
«” 2. ANYDMCI
/< 3. DANYMIC
2 4. YNMICAD

Question ID : 26433069024
Status : Answered
Chosen Option : 2

Q.15 gw [Af¥d e yrar &, "COMMUNITY' &1 'YITUNMCOM:® fRraT wiTell 8 3R 'AUTHORITY" &Y
'YITORHAUT" fRraT SiTaT 8 1 S} HTST & ISOLATION' 2 forat simem 2

Ans 7 1. NIOATLISO
< 2. NIOATLIOS
< 3. NIOATILSO
< 4. NIAOTLISO

Question ID : 26433059888
Status : Answered
Chosen Option : 1

Q.16 I Weg-JH BT TY PIFo1E, St 1P I HIY BT FAReu0r Hear g, ot ¥ay feg g
g | 3ifierad B
(&) 13} 1 3rfyuf real F = T AT ST F1RY 3R IR g F 3HeRY BT W@/
P TSR] B W@ B YR W RER Fafra T8 g1 718
9194 : PralgIgsc
Ans X 1. IRT1: Bd
X 2. 9 ; Fesht
X 3.4 e
V4.q:ﬁT:§ﬁ—cﬁ:[

Question ID : 26433068421
Status : Answered
Chosen Option : 4




Q17 we FETH H AT FET dFER Aer AT FET AT g1 FES F @
W g Far fems gem?

00
G DD
D& D&
00
00
TR
ANEXCR S
00
00
L, /BEDa
DG DG
00
00
x4 OQ OO
D& DG
00

Question ID : 26433080556
Status : Answered
Chosen Option : 3

Q.18 Tw 3rspH far T 8, Forawd  t ug g 71 2w e faweul & 9 95 wet fawew gfg, st
STHH DI I BN
NTR, TCE, ZLR, FUE, ?

Ans X 1.RNQ
& 2.LDR
& 3.LMR
X 4. RMO

Question ID : 264330104796
Status : Answered
Chosen Option : 2




Q.19 1 RT T uy & $© BY 3R I a8 31 HYHI W 31uia o frepd feg 1w ¥ ey
T HYAT B e °AH, U & ITH FTaa: Jid gt S fRsrar 811 3af ey ud ofik fr
fruifea #3¥ & F19 § e, T T FY4=1 &1 aifde T0 F gERu Hd 81

DY
1. PEA, BT RI
I PE C, BT BI
frep:
. FSC, AT R
I.$S A, BEI
Ans X 11311l G e 3ERT R B
& 2. B1S 1 Frsp ofaRu A a1 §
2 3. Pad fIsh | 3TERUI BT §
X 4. Had FIsB || SR BT §

Question ID : 264330104926
Status : Answered
Chosen Option : 2

Q20 1 fyee 1 Ta HIfvTY, R €1 77 el eiafifea 81 (gam &1 eaR €T ®)

7

Ans
Y
X1
D/
]
X 2.
N/
]
X 3.
X\
_/-./‘,\r'—.-/
v 4
ZaVA

Question ID : 26433068299
Status : Answered
Chosen Option : 4

Q.21 T A3 B YN H 'BOTTLE' H1 '148' & +=U H for@1 &1 &, "SIPPER" &Y '166' $ TU A
foran wirar 81 I YT # 'BUMPER' &Y {1 WebR fera simem?

Ans 7 1.150
X 2.170
< 3.180
X 4.160

Question ID : 26433068235
Status : Answered
Chosen Option : 1




Q.22 134 T HYAT R Frewuf St US| 98 A4 g % w1 A & wi S
2, Yd & 98 I U @ 7d o | R wefla gkt 81, fofg #3 fp g mw e A @
D-T1R Frepd SYA(Y) BT d1fh® &0 & I Hal®dd /e

DY

7o iR s &

FIE TS AT TE 31
Tt i 3§

ﬁW&:

. T URral & g g1 FT FUTTT 71

II. B g gaTeN TE 3.
n. Ml s A gl

Iv. B IRrer garen TE 81
Ans X 1. %ac fsp | 3ER0 R §

& 2. $ad By | 3R 11 SR HA &
X 3. %aq By |, 11 3R 1V SRR R §
X 4. Faq fIspd 11 3R 111 STER R &

Question ID : 26433070344
Status : Answered
Chosen Option : 3

2 Sy ) 1S efrepfr SREE B STE I OR 24 AT 2ATehia BT 90 S|

i e VK
o [l

- g
xs %
(3

Ans

Question ID : 26433068466
Status : Answered
Chosen Option : 4

Q.24 FEmafl & fwd e &1 999 HY | (W §: Sensd B I76 Fued Pl § fAurferd frg
fT, qof wemait wR wifthand fFrefea Y st wnfeq) Sarexor 137 - 13 TR wfpag S
% 13 # SitgEeHIATON ST 3n1fe foam o1 webaT 31 13 B 1 3R 3 F drs 3R ok
T 1 3R 3 WR N wfpaTd A F1 srgafa T8 )

Ans X 1.(18-36-72)
X 2.(12-24-48)
3. (14-28-42)
X 4.(16-32-64)

Question ID : 264330105075
Status : Answered
Chosen Option : 3




Q.25 fraferfd uy & § € g@en & A g 3P wd PR

67, 46, 24,1,-23, ?
Ans X 1.-38
& 2.-48
X 3.-46
&K 4.-50

Question ID : 264330105014
Status : Answered
Chosen Option : 2

Section : General Awareness

Q1 FafafEa & @ e uda saen & adi afera uda &2
Ans X 1. TR ydd @

o 2. 3T dd gar

X 3. TyafeaE udd SRae

7 4. SRTaEh udd y@e

Question ID : 264330105627
Status : Answered
Chosen Option : 2

Q.2 e A ugel e e H el 7 & de W wIfd 31 18 A

Ans X 1.1661
2. 1651
X 3. 1641
X 4.1671

Question ID : 264330105553
Status : Not Answered
Chosen Option : --

Q.3 e it il Raifem & forg amem wivd &1 A s g 8w ace Rais 5w
T gt fosa war ur?

Ans X 1.2020
X 2.2017
 3.2011
X 4.2014

Question ID : 26433074113
Status : Not Answered
Chosen Option : --

Q.4 fmfife ¥ | fra URd Iog § SwR-gdl UM & SRUT sagaR 3R TdeR & R
Tuf gt 32

Ans X 1. FRUT
X 2. HERE
o 3. AHETg
X 4.0 TR

Question ID : 26433066504
Status : Answered
Chosen Option : 3




Q.5 T P SITPE H
Ans X 1.km/hr

&< 2. m/hr
o 3. m/s
X 4. km/s

Question ID : 264330105460
Status : Answered
Chosen Option : 3

Ans 7 1.&ad (B)

X 2.4 (A)

X 3.(A) 3R (B) B

X 4.9 (A) SIRAE (B)

Q.6 FEfaad # & $9 T1A $Y7 T4 22
A) TRPR GRT U= a1 71 399 fAdae v Yl =g 21
B) TR gRT flt Husit & forar war faf~d=r vas yeR 91 yehra wiitd 21

Question ID : 26433066655
Status : Answered
Chosen Option : 3

Ans X 1. TTTS
o 2. 30

X 3.9mg
X 4.7¢ Reeeht

Q.7 gurEE g A A 2019 ® 21 5 #) FufifEd & @ e wer & siRffg o Raa &
IHd P TP T & 0 & YT foram U172

Question ID : 26433059402
Status : Answered
Chosen Option : 4

TaTs fpa gil aTfey?
Ans 7 1.23.77m
< 2.2245m
K 3.25.34m
X 4.26.42m

Q.8 3R AT WeRH (ITF), 2021 F FH & FAR T FIE &Y AF=S

Question ID : 26433064265
Status : Not Answered
Chosen Option : --

Ans X 1. U9
& 2. lcH
X 3.9
X 4. FWUSE

Q.9 BTt g A B WPR GRIYE 31 715 A

Question ID : 264330105286
Status : Answered
Chosen Option : 4




Q.10 "YTSYHA' I HRA P b IToq # 7T STl 82
Ans X 1. f98R

o 2. THTg

X 3. 3y uaw

X 4.7

Question ID : 26433072933
Status : Answered
Chosen Option : 2

Q.11 Poe SMERT U TNewd §, St gRoa: fory Irsardbg JMiRrd WS o HITaT Sfrel 872

Ans X 1. facelt
X 2. TRUS
< 3. qeTT
4. fearaa we=

Question ID : 26433071423
Status : Answered
Chosen Option : 4

Q.12 R, qag, IS ik Brasrd Bi wiiga arar A IS Acah HEAEI 2|

Ans X 1. @i Sgys

X 2. TR S5y
3. Wit Tgys
X 4. ER® IgYw
Question ID : 264330105591
Status : Answered
Chosen Option : 3
Q.13 ¥ q1g, HeTaT Miht A SrggaNT siigta arad & feram Ut

Ans 1. A AR B g
< 2. TSl gre
X 3. 9T fauTsH
X 4. SIferatare ST gATHIS

Question ID : 26433085275
Status : Answered
Chosen Option : 1

Q.14 ﬁr&mﬁa’azozz%ﬁwwgﬁw

Hiuferdt v (-

g IS T8 SeneaieT
STEM)ﬁamhﬁwﬁswm%msﬁ%maﬁwmﬁ%mwmaﬁ

EATT BT | $H UG PT A9 T 32
Ans X 1. 90 (NAMASTE)

X 2. HTT (KALYAN)

7 3. 59T (KUSUM)
o 4.3 (WEST)

Question ID : 264330105297
Status : Answered
Chosen Option : 3




Q.15 FuRfRufae ot fFafife 3 & e = & uivuila fear s aear 22
Ans X 1. 1o @1 T TR, S &) yenfadl & siadiay ¥ Tafid gt 81

X 2. fo &t U <, ST el & siaisy § WEfia gidt 71
X 3. fogm &t U T, S AP TSt 3 -7 TaiaRur & 1Y iy I Faiftd gt g1

4. TIRFRURIS! 3t v Iran, ot uikfRufaes Tger ot TReT, fasr oiR faavor 3 waifia
2

Question ID : 26433071443
Status : Answered
Chosen Option : 2

Q.16 fEfifad & & $i9 91 FUT TH At & T 7 T 22
1. 51 9T P Bfaal & el § =1 3NY e ferd foar ST 1
I1. T A1 Y Hg? e | SR e U wiaaf & awraq) o Toferd faar i
Ans X 1.%dd |
X 2. Fadll
o 3.1 TN g

Xoaagaa

Question ID : 264330105180
Status : Answered
Chosen Option : 3

Q.17 Fgfafad ¥ d T wiuse 31 g™ Fifm|
Ans X 1. 0w

X 2.3
X 3.@R
& 4.1

Question ID : 26433086704
Status : Not Answered
Chosen Option : --

Q.18 3nyfe TIRfRAfIH & o s B4 §2
Ans X 1.3 gH

X 2. e §r3A

& 3.5 ehgH

X 4.9 S

Question ID : 26433089653

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.19 FRIYS T Aeft A Icafvr wRa F Frafafea d @ fra = d g2
Ans X 1.%d

& 2. MY TR
X 3. FWUS™
X 4. 39

Question ID : 26433064287
Status : Answered
Chosen Option : 2




Q.20 YR & AU BT 3G 20 J el 31
Ans X 1. fRan &1 SR

X 2. Sfia iR fGTd Tad=r Bt gRem
o 3. SR & fou SRt & ey & wRem
X 4. 3RGAT HT 3

Question ID : 26433074896
Status : Marked For Review
Chosen Option : 2

Q21 fiedlgdd_ PEqdR__ TR FtaEm @
Ans 1 fFH 3=

X 2.3= g

X 3.fm

X 4.39, 3

Question ID : 264330105506
Status : Answered
Chosen Option : 2

Q.22 F.IRATE. F 373 AEINE F Fu A 5 Frged fear man 32
Ans 1.{{@1@?{%@?{

X 2. 0% PER

X 3. 3 a deH

X 4. oo srgem

Question ID : 264330105323
Status : Not Answered
Chosen Option : --

Q.23 YR TIUT BT P AT TS Rifep I59 & waie § fadiw yraem=i & wafia 82
Ans X 1.3Mw< 371C

X 2. 3J=5a 371A

X 3. 3J®g 371

4. 315G 371F

Question ID : 26433064729

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.24 fFafifEd o I fFam S R 9 31 Slses IR &1 37T form 3R ples #
SYAT ST A AaTgd e RTfud fHar?

Ans X 1.9Ygdd BUd
X 2. et g
3. Fa TgRRE
X 4. ToR-TER 8ReEx

Question ID : 264330105404
Status : Answered
Chosen Option : 3




Q.25 ffy (NITI) ST BT U Sreaed B T 82
Ans X 1. Tg TH

X 2. wufa

« 3. U HA

X 4 fog

Question ID : 26433065440
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q.1 f¥ar 3R ¥ &1 3a= HHR: 3: 5 F JUId H &1 9 AP & a1 § Rs.5,000 B gix Pt
STt 8, | =TT SguTd 5 : 7 8Y wiran @1 R &1 adue 39 e 82

Ans X 1.Rs.7,500
X 2.Rs.2,500
/< 3.Rs.10,000
«” 4. Rs.12,500

Question ID : 26433065077
Status : Answered
Chosen Option : 1

Q.2
afe K+l+2=0 TUTK <0 B, A KU+L BT U RTR?
K K?

Ans X 1.-1
& 2.0
X 3.-17
X a2

Question ID : 264330105915
Status : Answered
Chosen Option : 2

Q.3 APQR#, .Q=90°, PQ =8 cm 3R .PRQ = 45° 81 QR &1 TaTs AT PITTI
Ans X 1.3cm

X 2.5cm

 3.8¢cm

X 4.6cm

Question ID : 26433058443
Status : Answered
Chosen Option : 3




Q.4 i & 7 aiereT 5 a6t § T HUt F B S 3 Y G B gxid 2

¥ | FT F e
P 110
Q 310
R 160
S 60
5 210

¥ R ¥ orf & ot 3t e &1, af T & w1 & fo oY wien @ srgura | 3
Ans 1.16:21

K 2.21:17
K 3.21:16
K 4.15:22

Question ID : 264330105717
Status : Answered
Chosen Option : 1

Q.5 3 & € et 5 U A Aeadi= $Y den o eufd 2

FIAT | GoTda
7 45
K 20
L 40
M 15
N 25

J B AT &Y W= K B Aeai Bt 5e 1 fran ufawra 82
Ans X 1. 150 Ufa=Id
2. 225 UfaRId
< 3. 250 U
X 4. 125 iR

Question ID : 264330105722
Status : Answered
Chosen Option : 2

Q.6 g m2- 1 B m + 1 gRT fauTRTa [ siraT 8, o) QAuea a1 gm?
Ans X 1.-1

X 22
X 3.1
& 4.0

Question ID : 26433062625
Status : Answered
Chosen Option : 4




A7 & g ampfa H BCDE ©h &9 § #R ABC w#arg et ¢, ot
£ADC gl

A

Ans 7 1.15°
K 2.45°
< 3.30°
< 4.60°

Question ID : 26433079782
Status : Answered
Chosen Option : 1

Q.8 1000 m & s & S|, ol 3R ARVI S IR &1 3T A Frero HI 100 m F R
TeATSI = TRUT P 100 m A GIMATI SATEH 1000 m G # (11 {Uzd #1 @RE & ®) Iramh,
TRUT H 100 m P FHATT 3 § 3R 35, FTATSH B 100 m B 31T oo &1 98 gt 7
P, AR fasidr 3 S N ara safea & am 21

Ans X 1.40m
5 2.30m
< 3.100m
& 4.20m

Question ID : 26433075324
Status : Answered
Chosen Option : 3

Q.9 W, T, e, T 3R &= U URAR F Ui A & w1 e U F UR dar
ST & 3R TP o' BT U diem & 916 3P 3NHd HIR B 0T 61 Sl 21 afe
TS IR 3T R # 2 kg 1 gf 81l &, t I & g o w82

Ans X 1.14 kg
X 2.12kg
« 3. 16 kg
X 4.18kg

Question ID : 26433064959
Status : Answered
Chosen Option : 4

Q10 AsRc ~ ADEF @ 371 57 Byl o7 GRATT A 32 em 31 12 cm € | 914 DE = 6 o 2. G AR &1 ef@1d #n €nfle
Ans X 1. 14cm

o 2. 16 cm
X 3. 12cm
< 4.18 cm

Question ID : 26433075214
Status : Answered
Chosen Option : 2




an Y Re v ar h & 2 auf § v FR [T I @R O 3ol
3ORT Y T FRT & Feol Seqlea &1 Fiara [egor geiar 2 2

T EART 2 @t # IcNRT ©F IFFLAAT GHH H FR H A

110 -

100 |

ol B —
w! 1
70 -
_— .
60 +
us
uR
p— | — W
30 - | L I e
20 &
10
D A —
2000 2001

3cqifee FRI T T TEAT = 3,50,000 IcAIfed R A el TEIT = 4,40,000

IR FoAr gE 9y a¥ Ioufed T ¥R & FR F T 75% FI =
A, ST I TS T 9N T IR F FEI Faw 32

Ans X 1.22000
< 2.23500
X 3.25000
o 4.24125

Question ID : 26433086276
Status : Answered
Chosen Option : 4

Q.12 ww%ﬁqwa% P Rs.4,000 &, ST SUH! BIAT Rs.8,400 3ifhd Ha1 21
PR 9 UIRS B 25% & Fe W I9qT 31 Af A6 WR §RT Ugd & 9¥Y fvg 1w
U B YA B, A UeH B Raradt goa W 15% $1 3R Fe I giar 21 39 T |
IPMER gRI 3ifvfa ary ufesrd (Fepean quife @) fra-n 82

Ans 7 1.34%
< 2.42%
< 3.36%
X 4.51%

Question ID : 26433075764
Status : Answered
Chosen Option : 1

Q.13 TP HUH1 A g1 FAififa geTsal 91 = 2019 H 12500 gfAE 3AT 2020 A 10625 fe At
Srafes Su-it B #, SwTeT 2019 F 34000 gfe & R 2020 F 30600 gfe g1 am1 afg x
AR Y ST A 3R B GRT BT 2019 | 2020 T PR SHTEa 9 @ & Wi P 2,
at X 3R Y T SJuTd 1 gHII?

Ans X 1.8:5
X 2.3:4
K 3.5:3
& 4.3:2

Question ID : 26433063300
Status : Answered
Chosen Option : 4




Q14 Ffx g TH 7 HIOT § AR tan 6 + cot 6=2 ¥, @ tan?°%6 + cot>°0 F A G HfATI
Ans X 1.1

< 2.1

& 3.2

< 4.0

Question ID : 26433074491
Status : Answered
Chosen Option : 3

Q.15 g} YBT3t BT T THIYG (LCM) T BT, fe ITehT HewH HIIA® (HCF) 9 §
SR ITHT ATUTT 14 : 19 B

Ans X 1.3990
& 2. 239
25 3.3192
X 4.1596

Question ID : 26433074259
Status : Answered
Chosen Option : 2

Q.16 FfE TP Gaqig 9a & IHYST GAEA & G T TBITHS TH, IS AT &
TFEATHS A P TSR ¢, df 30 & YR B! 501 &1 T=aTds |71 Jid i

Ans X 1.2
K23
& 3.4
K 4.5

Question ID : 26433063908
Status : Answered
Chosen Option : 3

Q.17 I F} AIRIB 3T Rs.18,000 81 IT 5% B! a1 X A 3 af F Ry AR "6t TR
Rs.30,000 FT BT forT| 9% 3 991 & WIYRY TS & w4 H R 1 &7 yI1a= FHm, a5
IqF AIRIS da FI fpat ufaza 32

Ans X 1.20%
2. 25%
X 3.35%
X 4.30%

Question ID : 26433075733
Status : Answered
Chosen Option : 2




Q18 fox v o @ svewEw FY 3R Feafaflw v & I &)

o sy a9 & A Bt wsdt # st
waeHT T wEm (dws #)

mA mB mC
75
58
g5 o gp 3B 55
35 el
» 2 2

< 1,4' 15
2017 2018 09 2020 2021
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Ans X 1.56.25%
% 2.50.25%
X 3.48.62%
& 4.57.89%
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Question ID : 26433081480
Status : Answered
Chosen Option : 4

Ans x 1. \/g

X2 0
X3 =
3

4 1

1 UfE sec2a + tana = 3 2. Tl cot A BT HF RIS

Question ID : 26433058824
Status : Answered
Chosen Option : 4

Ans  1.Rs.1,800
< 2.Rs.1,700
2 3.Rs.1,900
< 4.Rs.2,000

Q.20 AT Rs.3,900 & TH A 3R TF HHT WIGA1 7| T8 A B 8% F ATH W 3R T 31
g%%m‘uwaﬁ%l I Rs.540 BT ATH graT 2| AT 3R Ff & 7@ geu & foramm SR
?

Question ID : 26433064973
Status : Answered
Chosen Option : 1




Q.21

aﬁx+§:6§,a’r3—“a§rmm@ﬁml

2x2-5x+2
Ans 2
K1 —
3
x21
>3 0
3
&4 —
7
Question ID
Status :

Chosen Option :

: 26433075839

Answered
4

02 Srafafea F O =i o uT T8 &2
L ATE x=12,y=—2 9T 2=-10
g, ar ¥ +y3+23=360

0.TfE x+y =48 TAT 4xy =128 &, a¥ 4+ 4y?= 4480

Ans X 1. Fadll
X 2. 1qur i aet
& 3.
X 4. Pad |
Question ID : 264330105964
Status : Answered
Chosen Option : 3
Q.23 Y gt Ft aRkfr swa=r: 110 Al qur 330 A, 31 37} Brownsit & wer srR w2
Ans 1. 359
X 2,159
X< 3. 7094
X 4. 4691
Question ID : 264330105852
Status : Answered

Chosen Option :

1




Q.24 A, B ¥ 20% iU 581 31 3 TP 1Y HRf 3 §U 39 $1 &1 11 3 A fpa=m ama A
oY A 3rda 29 oA & [T X W UT?

Ans

x 1. 203

11

o 174
AR

xa 116

11

xa 145

11

Question ID : 26433074309
Status : Answered
Chosen Option : 2

Q.25 H2 P S 4 42 A ¢ 3R SUD! TS 6 cm ¢ 1 U P YE A P [Pu o a9 Beudgs
BT 8B (cm? H, SRIHAT & &t TITH a9 YuIiiepd) F1d HIfog|

Ans X 1.3575

X 2.30.67

 3.37.71

X 4.32.69

Question ID : 26433075260
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1 Select the option that expresses the given sentence in active voice.
| was fascinated by the novel.
Ans & 1. The novel fascinated me.
/5 2. The novel fascinate me.
#< 3. The novel was fascinated to me.

/5 4. The novel fascinates me.

Question ID : 26433093529
Status : Answered
Chosen Option : 1

Q.2 Select the INCORRECTLY spelt word in the following sentence.
There lies no guarantee that the hierchical structural framework between the elite and

downtrodden sections of the society is right.

Ans X 1. downtrodden
«” 2. hierchical
/< 3. guarantee
75 4. structural

Question ID : 26433058569
Status : Answered
Chosen Option : 2




Q.3 Select the most appropriate synonym of the underlined word.

Marcella seemed morose and downcast when she refused to have dinner.
Ans X 1. Excited

75 2. Jocund
/< 3. Liberal
o 4. Gloomy

Question ID : 26433070507
Status : Answered
Chosen Option : 4

Q.4 Select the most appropriate synonym of the underlined word in the given sentence.

The efforts of the doctors came to a futile end with the death of the patient.
Ans X 1. Terrifying

5 2. Startling
o 3. Fruitless
5 4. Enriching

Question ID : 26433071957
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

The students decided to surprise their teacher on her birthday.
Ans X 1. herteacher on her birthday

/< 2. there teacher on her birthday
«” 3. No substitution
/< 4. their teacher at her birthday

Question ID : 26433073942
Status : Answered
Chosen Option : 3

Q.6 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

One of the students is always / late to the class; he has been warn / by the teacher
many times; / but still, he keeps on being late.

Ans X 1. One of the students is always
25 2. by the'teacher many times;
/< 3. but still, he keeps on being late

«” 4. late to the class; he has been warn

Question ID : 26433092272
Status : Answered
Chosen Option : 4




Q.7 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully.

The percentage of employees who called in sick and the number of employees who
left their jobs within 2 years (were reflective of the level of job satisfaction).

Ans ” 1. are reflective of the level of job satisfaction
< 2. is reflective of the level of job satisfaction
25 3. were reflective on the level of job satisfaction

< 4. has reflected the level of job satisfaction

Question ID : 26433088965
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
He was sitting besides his best friend during the event.

Ans X 1.was sitting about his

< 2. were sitting besides his
«” 3. was sitting beside his
< 4. was sitting besides her

Question ID : 26433084629
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate collocating word to fill in the blank.

This statement of the political leader has created confusion.
Ans X 1. weighty
o 2. utter
< 3.vast

< 4. heavy

Question ID : 26433070453
Status : Answered
Chosen Option : 4

Q.10 Complete the following collocation.
When | got the job, | knew what money really is.
Ans X 1. effort-earned
75 2. honest-earned
o 3. hard-earned
75 4. soft-earned

Question ID : 26433073930
Status : Answered
Chosen Option : 3




Q.11 Select the correct direct form of the given sentence.
Shravan said that the prisoner had slept throughout the journey.

Ans X 1. Shravan said, "The prisoner sleeps throughout the journey."
& 2. Shravan said, "The prisoner had slept throughout the journey."
/< 3. Shravan said, "The prisoner had been sleeping throughout the journey."

/< 4. Shravan says, "The prisoner has slept throughout the journey."

Question ID
Status

Chosen Option :

1264330104630
: Answered
4

Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. Omnivores get energy and nutrients from plant and animal materials by digesting
carbs, protein, fat and fibre and metabolising the nutrients and energy of the sources
ingested.
B. The many diverse animals categorised as omnivores may be divided into sub-
categories based on their dietary habits.
C. An omnivore is an animal that can feed and thrive on both, plant and animal
substances.
D. They also have the capacity to integrate food sources like algae, fungus and
bacteria into their diet.

Ans X 1.DCBA
« 2. CADB
< 3.CABD

/< 4. ACDB

Question ID
Status

Chosen Option :

126433093049
: Answered
2

Q.13 Select the most appropriate meaning of the given idiom.
Steer clear of

Ans X 1. Show someone how to do a job or activity
/< 2. Be mentally and physically exhausted
/< 3. Be very easy

«” 4. Avoid someone or something because it is’dangerous for you

Question ID
Status

Chosen Option :

126433060469
: Answered
4

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Health club membership has grown by leaps and bounds after the pandemic.

Ans X 1. slowly and gradually
5 2. hurriedly
< 3. full of speed and excitement

«” 4. very quickly

Question ID
Status

Chosen Option :

1 26433071891
: Answered
4




Q.15 Select the most appropriate synonym of the underlined word in the following

sentence.
Roads in villages during rainy seasons become muddy.

Ans X 1.fuzzy
& 2. filthy
#< 3. blurred
75 4. unsoiled

Question ID : 26433066416
Status : Answered
Chosen Option : 2

Q.16 The following sentence has been split into four segments. Identify the segment that

contains a grammatical error.
The man who / was committed / the theft last night / was caught this evening.

Ans X 1.was caught this evening.
& 2. was committed

25 3. the theft last night

75 4. The man who

Question ID : 26433086305
Status : Answered
Chosen Option : 2

Q.17 Select the option that expresses the given sentence in active voice.
The driver was taken to the nearest dispensary by the beggars.
Ans X 1. The beggars took the driver to dispensary.
«” 2. The beggars took the driver to the nearest dispensary.
/< 3. To the nearest dispensary, the beggars took the driver.

/< 4. The beggars take the driver to the nearest dispensary.

Question ID : 26433088554
Status : Answered
Chosen Option : 2

Q.18 Select the sentences that contains no spelling errors.

Ans X 1. Diabites is a chronic disease.
«” 2. Diabetes is a chronic disease.
/< 3. Daibetes is a chronic disease.

75 4. Diabeties:is a chronic disease.

Question ID : 26433070686
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate synonym of the underlined word.
The poet managed to paint a vivid picture of the landscape by the river through words.
Ans 7 1. Evocative
X 2. Metaphoric
/< 3. Contemporary
< 4. Blurred

Question ID : 26433071777
Status : Answered
Chosen Option : 4




Q.20 Rearrange the parts of the sentence in correct order.

Ans

Russell Wilson, an NFL

P. about Naomi Osaka saying that her

Q. has been spectacular to watch

R. humility and dedication to others

S. player for the Seattle Seahawks, wrote

X 1.PRQS
X 2.QPRS
« 3. SPRQ
X 4.RPQS

Question ID : 264330104674
Status : Answered
Chosen Option : 3

Q.21
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Comics have (1) many superheroes. Bantul, the great was (2) in the

year 1965 in the backdrop of the Indo-Pak war. Indrajal comics was set up in 1964 and (3)
Aabid Surti, who gave birth to a character called Bhadur in 1976 wearing kurta

and jeans. Raj comics too (4) into this sphere with their (5) toons Nagraj,

Tiranga and Shakti together called Brahman Rakshak (protectors of the universe).

SubQuestion No : 21

Select the most appropriate option to fill in blank number 1.

< 1. fabricated
& 2. produced
7< 3. built

X 4. manufactured

Question ID : 26433072854
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Comics have (1) many superheroes. Bantul, the great was (2) in the
year 1965 in the backdrop of the Indo-Pak war. Indrajal comics was set up in 1964 and (3)

Aabid Surti, who gave birth to a character called Bhadur in 1976 wearing kurta
and jeans. Raj comics too (4) into this sphere with their (5) toons Nagraj,
Tiranga and Shakti together called Brahman Rakshak (protectors of the universe).

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans

< 1. generated
< 2. promoted
/< 3. inspired

" 4. created

Question ID : 26433072855
Status : Answered
Chosen Option : 4




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Comics have (1) many superheroes. Bantul, the great was (2) in the
year 1965 in the backdrop of the Indo-Pak war. Indrajal comics was set up in 1964 and (3)
Aabid Surti, who gave birth to a character called Bhadur in 1976 wearing kurta
and jeans. Raj comics too (4) into this sphere with their (5) toons Nagraj,
Tiranga and Shakti together called Brahman Rakshak (protectors of the universe).
SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.

Ans X 1.authorised
25 2. ordered
« 3. employed
/X 4. contracted

Question ID : 26433072856
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Comics have (1) many superheroes. Bantul, the great was (2) in the
year 1965 in the backdrop of the Indo-Pak war. Indrajal comics was set up in 1964 and (3)
Aabid Surti, who gave birth to a character called Bhadur in 1976 wearing kurta
and jeans. Raj comics too (4) into this sphere with their (5) toons Nagraj,
Tiranga and Shakti together called Brahman Rakshak (protectors of the universe).
SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.

Ans ¢ 1. entered
5 2. penetrated
X 3.invaded
< 4. pierced

Question ID : 26433072857
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Comics have (1) many superheroes. Bantul, the great was (2) in the
year 1965 in the backdrop of the Indo-Pak war. Indrajal comics was set up in 1964 and (3)
Aabid Surti, who gave birth to a character called Bhadur in 1976 wearing kurta
and jeans. Raj comics too (4) into this sphere with their (5) toons Nagraj,
Tiranga and Shakti together called Brahman Rakshak (protectors of the universe).
SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.

Ans 7 1. famous
< 2. noted
< 3. good
< 4. influential

Question ID : 26433072858
Status : Answered
Chosen Option : 1
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